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QUESTION 1

In an environment with one IBM z14 and one z/OS LPAR, what component would contribute to higher availability? 

A. Dual HMC setup 

B. Three Phase Line cord 

C. Parallel Sysplex 

D. RAIM Memory technology 

Correct Answer: C 

Reference: https://www-01.ibm.com/common/ssi/cgi-bin/ssialias?
subtype=caandinfotype=anandsupplier=897andletternum=ENUS219-058 

 

QUESTION 2

A z/OS customer is concerned about complying with privacy rules. 

How is the concept of Pervasive Encryption a potential solution to address the concern? 

A. It is implemented without application or database changes. 

B. It is implemented by only requiring database changes. 

C. It is implemented by requiring application changes. 

D. It is implemented by encrypting only the data at rest. 

Correct Answer: A 

Reference: https://www.ibm.com/downloads/cas/04WL0WAJ 

 

QUESTION 3

What customer records are required to quickly assess system performance in a z/OS environment? 

A. RMF report showing FICON channel statistics 

B. Network TCP records 

C. SCRT records 

D. SMF type 70 and 113 records 

Correct Answer: D 
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QUESTION 4

How was zBNA improved to support the latest driver level for the z14 server (GA2 in October 2018)? 

A. z/OS Coupling Facility Structure Encryption support 

B. PCle Express Gen3 Coupling Express Long Reach support 

C. zHyperLink write support 

D. FICON Channel Aggregation 

Correct Answer: A 

 

QUESTION 5

Why are IBM Db2 z/OS customers uniquely positioned to take advantage of hybrid transactional and analytical
processing (HTAP)? 

A. They can leverage high-value, sensitive data in a security-rich environment with the IBM Db2 Analytics Accelerator. 

B. They can use IBM Open Data Analytics for z/OS to securely combine data and insight from sources other than IBM
Z. 

C. They can easily scale with Db2 for z/OS Machine Learning. 

D. They can use IBM Query Management Facility (QMF) to reliably optimize IBM Z data sources. 

Correct Answer: A 

Reference: https://www-01.ibm.com/common/ssi/ShowDoc.wss?docURL=/common/ssi/rep_ca/8/897/
ENUS219-248/index.htmlandrequest_locale=en (overview) 
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